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n=1

θn sin θn

σ4θ2
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(
1 − e−

σ2θ2
nT

2h2 e−
µ2T

2σ2
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⎪⎪⎪⎪⎪⎪⎩

0 µ < σ2

h

3
e
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µ2T

2σ2
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µ = σ2
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2σ2η sinh η
(σ2µh−µ2h2+σ4η2)
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µ2T

2σ2 e−
σ2η2T
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���� 2

( 2��� ����� %
�
����� µ 
�� ��
��
�� ��&�
���� σ+ 8���

t �� ������ �������� �� ���������� ���� 
�� 2�'�� ���������� �� ��� ��
2��2� �� ����

�
���� 2

( �� ��� �����&

 t ∈ [0, T ]+ 7�'&� X(0) = 0 
�� X(t) ��

�2� ��� 
 %
��

��&�� �� 
� ���
���

 ���
����+

����� ���������	 ��
�

$ ��
��
�� 0��2��
� ������ 2��� 
 ����� %
�
����� µ 
�� &
��
��� %
�
����� σ 2�



�
&� ��� ��

�2��� ���
����

dX(t) = µdt + σdW (t) !�+9#



6

���� W (t) �� ��� ��
��
�� 2����� %������ 2��� ��� ��

�2��� %��%������

E[
dW (t)

dt
] = 0 !�+�#

E[
dW (t)

dt

dW (s)

ds
] = δ(t − s) !�+:#

���� δ(.) �� ��� ���
� ��
�
 ��������+ >��


� dW (t)�� ������ 
� ����


� ���*

�������� 2���� ����� 2��� E[dW (t)] = 0 
�� E[dW (t)2] = dt+ >���� ����� 
����%*

������ ��� �,%���
����� �� X(t) �
� �� ���%���� 
� E[X(t)] = µt 
�� V [X(t)] = σ2t+

����� ��	
���� ��
�

�� ���� �
��� ��� �����&

 �� �������� [0, T ] �� ���(�� ���� n �����&

� �� ���

 
�����

∆t = T/n+ ������� Xi = X(i∆t) ��� i = 0, 1, ..n� 
�� 2� 
����� ��
� Xi ��

�2� ���

���
����

Xi+1 =

⎧⎪⎨
⎪⎩

Xi + δ 2��� %��� �

Xi − δ 2��� %���+ �����

!�+ #

7� ������ ��� %
�
������ δ 
�� p ���� ��
� ��� �
���� 2

( ���&������ �� ���


���� ∆t → 0� �� 
 0��2��
� ������ �� [0, T ] 2��� ����� µ 
�� ��A����� %
�
����� σ+

��� ����� ��� %
�
������ δ
�� p ���� �
����� ��� ��

�2��� ������
����

E [Xn − X0] = n(p − q)δ = µT !�+;#

V [Xn − X0] = δ2 = nσ2∆T !�+6#

��
&��� ����� �2� ���
������ 2� ���



5

δ = σ
√

t

(
1 +

µ2∆t

σ2

)1/2

!�+5#

p =
1

2

(
1 +

µ
√

∆t

σ

(
1 +

µ2∆t

σ2

)1/2
)

!�+"#

q =
1

2

(
1 − µ

√
∆t

σ

(
1 +

µ2∆t

σ2

)1/2
)

!�+4#

$���%�����


�� 
� ∆t → 0� p → 0.5 
�� δ → 0� ���� 
� 
 �
��
√

∆t+ ��� �� 
��

��
������ �� ��� �
���� 2

(� �� ��� ��� ������%������ ��
������ �� ��� ���������� �
���

2� �
(� ��� 
���� 
� ∆t ���� �� 1���+ �� 
���%�����


�� 2� �
&�

δ → σ
√

∆t !�+9�#

p → 1

2

(
1 +

µ
√

∆t

σ

)
!�+99#

��� ����	
�� 
� � �������� ���	
� ����

������%������ �� ��� �
���� 2

( Xt� 2� ����� 
� 
�����
��� 2

( ��� ��� ��
2��2�

Dt� ��� ��
2��2� ���� ��� %��&���� �
,���� &

�� 2��� D0 = 0+ Dt �
� ���
����

&��� ����

� �� Xt+ �� Xt ���� ��2�� ���� Dt ���� �%� 
�� �� Xt ���� �%� ���� Dt ����

��2�� 2��� ��� �,��%���� ��
� Dt �
���� �� ��
�2 1���+ ��� �� Xt ��

�2� 
 �
����

2

( 2��� %���
��
��� p� ���� Dt ��

�2� 
 �
���� 2

( 2��� %���
��
��� 1− p 
�� 


��F����&� �
����� 
� 0+ ��� �
,���� ��
2��2� �� ���� ��&�� ��

MDD = max
t

Dt !�+9�#

�� ���%��� ��� %���
��
��� ��
� MDD �� ���
��� ��
� h� 2� 
�� 
� 
��������

�
����� 
� h+ ��� ��� �
���� 2

( Dt 2�

 ��� 
������� �� Dt ≥ h ��� ���� t �� [0, T ]+

��� ��� %���
��
��� ��
� MDD ≥ h �� ��� �
�� 
� ��� 
����%���� %���
��
��� �� ���

�
���� 2

(+ .�� G(h|T ) �� ��� %���
��
��� ��
� MDD ≥ h+ .�� f(i|h) �� ���



"

%���
��
��� ��
� ��� �
���� 2

( ���� 
������� �� ��� ith ���� ���%� ����

G(h|T ) = P [absorbtion ∈ [0, T ]] =

T/∆t∑
i=0

f(i|h) !�+9:#

f(i|h) 2
� ���%���� �� 7���
(�
 ?94@ ��� 
 �%���

 �
�� 2��� p/q < (1 + 1/N)2�

��� ���� �����

 �
�� 2
� ���%���� �� 0

�� ?:@� 2���� 
���� ���� ����������� �� ��&��

��

f(i|h) =

⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

f̃(1) p
q

<
(
1 + 1

N

)2
f̃(2) + 3

2
2ip

1
2 (i−N)q

1
2 (i+N)

(N+1)(N+ 1
2
)

p
q

=
(
1 + 1

N

)2
f̃(3) + 2ip

1
2 (i−N)q

1
2 (i+N)q

1
2 coshi−1 β sinh2 β

(N+1)q
1
2 cosh(N+1)β−Np

1
2 cosh Nβ

p
q

>
(
1 + 1

N

)2
!�+9 #

2���� N = h/δ 
��

f̃(k) = −2ip
1
2
(i−N)q

1
2
(i+N)

N∑
v=k

q
1
2 cosi−1 αv sin2 αv

(N + 1)q
1
2 cos(N + 1)αv − Np

1
2 cos Nαv

!�+9;#

2���� αv ∈
(

vπ
N−1

, (v+1)π
N−1

)
�
������

q
1
2 sin(N + 1)αv − p

1
2 sin Nαv = 0 !�+96#


�� β �
������

q
1
2 sinh(N + 1)β − p

1
2 sinh Nβ = 0 !�+95#

������������ �+9 
�� �+9; �� �+9:� 2� ��� ��� ������������ �������� �� ��� ��������

�
��+ >���� δ 
�� p 
� ��&�� �� �+99� 
�� �
(��� ��� 
���� 
� ∆t → 0� 2�

 ��&� ��

��� ���������� �
��+ ��%%��� 2� 
�� f̂τ (t|h) �� ��� ������%������ ������� �������� ��


����%���� �� [t, t + ∆t] ������ �� f̂τ (t|h)∆t = f(t/∆t|h)� ����



4

G(h|T ) =

T/∆t∑
i=0

∆t ˆfτ (i∆t|h) !�+9"#

����� �� ��� 
���� 
� ∆t → 0� 2� �
&� f̂τ (t|h) → fτ (t|h)� ��� ���������� ����


����%���� �������� 2� �
&� �� ��� 
���� ∆t → 0

G(h|T ) =

∫ T

0

dtfτ (t|h) !�+94#

������ λ = µ
√

∆t
σ

(
1 + µ2∆t

σ2

)1/2

� �� p = 1
2
(1 +λ) 
�� �� ��� 
���� ∆t → 0� 2� �
&�

λ → µ
√

∆t
σ

>���� ��� �������� limx→∞
(
1 + 1

x

)x
= e� 2� ���

2ip
1
2
(i−N)q

1
2
(i+N) = (1 − λ2)

i
2

(
1 − λ

1 + λ

)N
2

→ e−
µ2t

2σ2 e−
µh

σ2 !�+��#

3,%
����� ��� ����� &

�� ��������� ��� αv �� �+96 �� ��� ���� ����� �� λ� 
�� ��

���%
���
����� 2� ���

tan

(
N +

1

2

)
αv cos αv =

2

λ
sin

αv

2

����� αv ∈
(

vπ
N−1

, (v+1)π
N−1

)
� 
�� θv =

(
N + 1

2

)
αv+ ��� �,�� v� αv → 0� �� 2� �
(�

��� ���� ����� �,%
����� �� αv �� ���

tan θv =
σ2

µh
θv

2��� θv ∈
(
vπ

N+ 1
2

N−1
, (v + 1)π

N+ 1
2

N−1

)
→ (vπ, (v + 1)π]+ ����

�
� 
�

�1��� ��� �����

&

�� ��������� ��� β� 2� ���

tanh

(
N +

1

2

)
β cosh β =

2

λ
sinh

β

2

������� η =
(
N + 1

2

)
β� 
�� �
(��� ��� 
����� 2� ���

tanh η =
σ2

µh
η



9�

�������� ��� ����
�� �� f̃ + ����� sin αv → θv

N+ 1
2

� ��� ����
�� �������

θ2
v cosi−1 αv

(N + 1
2
)2(N + 1)

[
cos(θv + 1

2
αv) − A cos(θv − 1

2
αv)
] !�+�9#

2���� A = (1+λ)
1
2

(1+ 1
N

)(1−λ)
1
2
+ >���� ��� �������� limx→0 cos1/x2

x = e−1/2� 2� ��� ��
�

cosi−1 αv → e−
σ2θ2

vt

2h2 + ����� 
���� ���%
���
����� 
�� �
(��� ��� 
����� 2� �
&� ��
�

��� ����
�� �� f̃ �������

∆tσ2

h2

θ2
ve

−σ2θ2
vt

2h2(
1 − µh

σ2

)
cos θv − θv sin θv

=
−θv sin θv[σ

4θ2
v + µ2h2]

[σ4θ2
v + µ2h2 − µhσ2]

!�+��#

	
������ 


 ����� ����
�� ���� �+9; 
�� ��&����� �� ∆t� 2� ��� ��� ���������� ����


���� �� f̃ �

f̃(k) → e−
µ2t

2σ2 e−
µh

σ2
σ2

h2

∞∑
v=k

θv sin θv[σ
4θ2

v + µ2h2]e−
σ2θ2

vt

2h2

[σ4θ2
v + µ2h2 − µhσ2]

!�+�:#

��� ����� �
��� �� �+9 � ������%��� �� ��� 
���� �� ��� ���������� µ < σ2

h
� µ = σ2

h


�� µ > σ2

h
+

��� 

�� �2� �
��� �
&� 
� 
�������

 ���� 2���� 
����� �
� �� ���%���� �����

�+��+ ��� ��� ������ �
��� 2��� p
q

=
(
1 + 1

N

)2
� ����� �+�� 
�� ��&����� �� ∆t� 2� ���

��� 
���� �� ��� �,��
 ���� 
�

e−
µ2t

2σ2
3σ2

2eh2
!�+� #

��� ��� ����� �
��� p
q

>
(
1 + 1

N

)2
� ������� η =

(
N + 1

2

)
β� ��� �������� limx→0 cosh1/x2

x =

e1/2� 2� ��� coshi−1 β → e
σ2η2t

2h2 + ��� 2� ��� ��� 
�������

 ���� �� ���� �
�� 
�

∆tσ2

h2

η2e−
σ2η2t

2h2

N(1 − A) cosh η cosh 1
2
β − N(1 + A) sinh η sinh 1

2
β

=
η sinh η[µ2h2 − σ4η2]

[σ4η2 − µ2h2 + µhσ2]
!�+�;#

$�
�� ����� �+�� 
�� ��&����� �� ∆t� 2� ��� ��� 
���� �� ��� �,��
 ���� 
�
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e−
µ2t

2σ2
σ2

h2

(µ2h2 − σ4η2)η sinh η

(σ2µh − µ2h2 + σ4η2)
e−

µh

σ2 e−
σ2η2t

2h2 !�+�6#

��������� �+�: ��+� 
�� �+�6 �� �+9 � 2� ���%��� ��� ���������� 
���� �� ���

�������� ���� ������� 
�

fτ (t|h) = e−
µ2t

2σ2

[
σ2

h

∞∑
n=0

(σ4θ2
n + µ2h2)θn sin θn

(σ4θ2
n + µ2h2 − σ2µh)

e−
µh

σ2 e−
σ2θ2

nt

2h2 + K

]
!�+�5#

2���� θn 
�� ��� %�����&� ��
������ �� ��� ����� &

�� ���������

tan θn =
σ2

µh
θn !�+�"#


�� K �� ��&�� ��

K =

⎧⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎩

0 µ < σ2

h

3σ2

2eh2 µ = σ2

h

σ2

h2

(µ2h2−σ4η2)η sinh η
(σ2µh−µ2h2+σ4η2)

e−
µh

σ2 e−
σ2η2t

2h2 µ > σ2

h

!�+�4#

2���� η �� ��� %�����&� ��
����� �� ��� ����� &

�� ���������

tanh η =
σ2

µh
η !�+:�#

������������ �+�5 �� �+94� 
�� �
(��� ��� ������
����� 2� ���

GMDD(h|T ) = 2σ4
∞∑

n=1

θn sin θn

σ4θ2
n + µ2h2 − σ2µh

e−
µh

σ2

(
1 − e−

σ2θ2
nT

2h2 e−
µ2T

2σ2

)
+ L !�+:9#

2���� L �� ��&�� ��
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L =

⎧⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎩

0 µ < σ2

h

3
e

(
1 − e−

µ2T

2σ2

)
µ = σ2

h

2σ2η sinh η
(σ2µh−µ2h2+σ4η2)

e−
µh

σ2

(
1 − e−

µ2T

2σ2 e−
σ2η2T

2h2

)
µ > σ2

h

!�+:�#

�� !������	 ����	
��

�� ��� ��� �,%���
���� �� ��� �
,���� ��
2��2�� 2� ��� ��� �������� E[MDD|T ] =∫∞
0

G(h|t)dh� 2���� ��
�� ��� %�����&� &

��� �
���� &
��
�
��+ ��� ���
&��� �� ���

�,%���
���� �� ��A����� ��%������ �� ��� ���� �� µ+ 7� 2�

 
�

�1� ��� �,%���
����

����� ��� ��

�2��� ����� �
��� �� ��� ���� �� µ+

����� µ = 0

��� ��� �
�� 2��� µ = 0� ��� ����� &

�� ��������� �+�" �� ��
&�� �� θn = (n − 1
2
)π+

����� 2� �
&�

G(h|T ) = 2

∞∑
n=1

sin(n − 1
2
)π

(n − 1
2
)π

(
1 − e−

σ2(n− 1
2 )2π2T2

2h2

)
!�+::#

=
2

π

∞∑
n=0

(−1)n

(n + 1
2
)π

(
1 − e−

σ2(n+ 1
2 )2π2T2

2h2

)
!�+: #

��� �,%����� &

�� �� ��� �
,���� ��
2��2� �
� ���� �� �

��

��� 
�

E[MDD] =

∫ ∞

0

G(h|T )dh !�+:;#

=
2

π

∫ ∞

0

∞∑
n=0

(−1)n

(n + 1
2
)π

(
1 − e−

σ2(n+ 1
2 )2π2T2

2h2

)
dh !�+:6#

= 2σ
√

T

∫ ∞

0

∞∑
n=0

(−1)n

(n + 1
2
)π

(
1 − e−

(n+ 1
2 )2

2h2

)
dh !�+:5#

������� ��� �����
�� γ ��
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γ =

∫ ∞

0

∞∑
n=0

(−1)n

(n + 1
2
)π

(
1 − e−

(n+ 1
2 )2

2h2

)
dh ≈ 0.6276 !�+:"#

2� �
&� ��
� E[MDD|T ] = 2σγ
√

T + ��� &

�� �� γ 2
� ���
���� �� �������



������
����+ $
����
��&�
�� ��� &

�� �� γ 2
� ���%���� 
�

����


� �� /��� 0���

? @� 
� γ =
√

π/8 ≈ 0.6267+

����� µ < 0

�
(��� ��� ����� ���������

E[MDD] =

∫ ∞

0

G(h|T )dh !�+:4#

= 2

∫ ∞

0

e−
µh

σ2

∞∑
n=1

sin3 θn

θn − cos θn sin θn

(
1 − e

− µ2T

2σ2 cos2 θn

)
dh !�+ �#

�
(��� ��
��� �� &
��
�
�� �� u = −µh/σ2� 2� ���

E[MDD] = −2
σ2

µ

∫ ∞

0

eu
∞∑

n=1

sin3 θn

θn − cos θn sin θn

(
1 − e

− µ2T

2σ2 cos2 θn

)
du !�+ 9#

2���� tan θn = −θn/u+ �� 2� ���

E[MDD] = −2σ2

µ
Qn(α2) !�+ �#

2���� α = µ
√

T
2σ2 
�� ��� ���� �������� Qn(.)+ ��� �������

 ���%��
���� ��

Qn(x) �� ��� ���
�������2
��+ ��� ����
���� �� ��� ������
�� �� 
 �������� �� u ��
�

�����
��� �
���� ��
� e−u+ ����� ��� �
������� �� ��� nth ���� �� 
%%��,��
��
� 1/n�

2� ���� �� �
(� Ω(eu) ����� �� ��� ����
���� �� �
(� ���� ��
� ��� ��,� ���� 
���

��� �
� 
 �
������� 
��� ��
� ��� ��1� �� ��� ���+ $%%����, $ ��&�� ��� 
%%��,��
��

&

��� �� Qn(x) ��� &
����� &

��� �� x� ���%���� ����� �������

 ������
����+

7� (��2 ��
� Qn(x) → γ
√

2x 2��� x → 0+� ����� �� ��� 
����� 2� ���� ����&��
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��� µ → 0 ���
&���+ ��� ��� ���
&��� �� Qn 
� x → ∞� 2� ���� ����� ��� MDD ��

����� �� ��� �
��� R 
�� ��� .�2 L �� ��� 0��2��
� ������+ ��� �
��� R �� ������


� ��� ��A������ ���2��� ��� �
,���� &

�� 
�� ��� ������� &

�� 
��
���� ��

��� �
���� 2

(+ 7�'&�

R ≥ MDD ≥ L !�+ :#

��� �
��� 
�� 
�2 2��� 
�

�1�� �� �

�( �� 

+ ?9�@+ ���� ���� 2� ���

α2

2
+

QR(−α)

2
≤ Qn(α2) ≤ QR(−α) !�+  #

2���� QR(x) = erf(x)
(

1
2

+ x2
)
+ 1√

π
xe−x2

+ $���%�����


�� 
� α → ∞� ���� ��&��

α2 +
1

4
≤ Qn(α2) ≤ α2 +

1

2
!�+ ;#

��� Qn(x) → x + ε(x) 2���� 1
4
≤ ε(x) ≤ 1

2
+ ����� Qn(x) �� 
 ���������


�

�����
���� �������� �� x� 2� ����
��� ��
� ε(x) → D∞ ��� ���� �����
�� D∞ ∈ [1
4
, 1

2
]+

$���%�����


�� ����� µ < 0� 2�'

 �
&� ��
� E[MDD] = E[R] 
�� ��� D∞ = 1
2
+ ����

�
�� �
� �� &������ �������


�+

��� 2� �
&�

Qn(x) →

⎧⎪⎨
⎪⎩

γ
√

2x x → 0+

x + 1
2

x → ∞
!�+ 6#

����� µ > 0

�� ���� �
��� ��� h > σ2

µ
�� ��� ������

� ��� ����� �
�� ��� L 
��� 
������ ����+ ��

�
&� �
&�
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E[MDD] =

∫ ∞

0

G(h|T )dh !�+ 5#

= 2

∫ ∞

0

e−
µh

σ2

∞∑
n=1

sin3 θn

θn − cos θn sin θn

(
1 − e

− µ2T

2σ2 cos θn

)
dh −

2

∫ ∞

σ2/h

e−
µh

σ2
sinh3 η

η − cosh η sinh η

(
1 − e

− µT2

2σ2 cosh2 η

)
dh !�+ "#

��� ������ ������

 �
� �� ������� �� 
 ��
��� �� &
��
�
�� u = η(h)+ �����

tanh u = σ2u/µh� 2� �
&�

dh

du
=

σ2

µ

cosh u sinh u − u

sinh2 u
!�+ 4#

��� ��� ������

 ������� ��

−σ2

µ

∫ ∞

0

e−
u

tanh u

(
1 − e

− µ2T

2σ2 cosh2 u

)
du !�+;�#

��
����� &
��
�
� �� ��� ���� ������

 �� u = µh/σ2� 2� ���

E[MDD] = 2
σ2

µ

∫ ∞

0

e−u

∞∑
n=1

sin3 θn

θn − cos θn sin θn

(
1 − e

− µ2T

2σ2 cos θn

)
+

e−
u

tanh u sinh u

(
1 − e

− µ2T

2σ2 cosh2 u

)
du !�+;9#

2���� tan θn = θn

u
+ ��� 2� �
&�

E[MDD] =
2σ2

µ
Qp(α

2) !�+;�#

��� ���� �������� Qp 
�� α = µ
√

T/2σ2+ 7� (��2 ��
� Qp(x) → γ
√

2x 2���

x → 0++ ��� ��� �
�� 2��� x → ∞� 2� 2�

 �&

�
�� ��� �2� ����� �� Qp ��%
�
��
�+

�������� I1(x) ��&�� ��
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I1(x) =

∫ ∞

0

e−u

∞∑
n=1

sin3 θn

θn − cos θn sin θn

(
1 − e−

x
cos θn

)
du !�+;:#

����� 0 ≤ cos2 x ≤ 1 
�� x → ∞� ��� ���� �� ��� ��
�(��� �� �
%��
� 
%%��
����� 1+

����� e−u �� �
%��
� �����
����� 2� �
� �������
��� ��� ����
���� 
�� ��� ������
����+

>���� ��� ��
��� �� &
��
�
� v = θn(u) 
�� ��� ��������

du =
cos v sin v − v

sin2 v
dv !�+; #

2� ���

I1(x) =

∞∑
n=0

∫ n+ 1
2
π

nπ

e−
v

tan v sin v
(
1 − e−

x
cos2 v

)
dv !�+;;#

0� ��
��

���� �
�� ������

 �� nπ 
�� �������� ��� ����
���� ������ ��� ������

�

��� ����
���� ������� 
 ��������� ������ 2���� �
� �� �&

�
��� �� �
���� ���� ��

���

I1(x) =

∫ π/2

0

e−
v

tan v sin v
(
1 − e−

x
cos2 v

)
1 + e−

πi
tan v

dv !�+;6#

��� 2� �
&�

(1 − e−x)β1 ≤ I1(x) ≤ β1 !�+;5#

2����

β1 =

∫ π/2

0

e−
v

tan v sin v

1 + e−
πi

tan v

dv !�+;"#

��� 2�'

 �
&� ��
� I1(x) → β1 
� x → ∞+ β1 �
� �� �&

�
��� �������


� �� ��&�

β1 = 0.4575+

�������� ��� ������ ���� �� Qp�

I2(x) =

∫ ∞

0

e−
u

tanh u sinh u

(
1 − e

− µ2T

2σ2 cosh2 u

)
du !�+;4#



95

��� ���� �� ��� ��
�(��� �� ��� ��
� %

�� 2���� x 
%%�
��+ 7��� x �� 

����

���� ���� �� &��� �
��� �� 1 ����
 u ���� 

��� ������ �� ��
� cosh u ∼ x� ���� 2����

%����� ��� ���� ����(
� ���
�� �� 0+ ��� ���� e−
u

tanh u sinh u �� 

2
�� 
��� ��
� 1
2

��

�
%��
� �����
��� ���� 0 �� 1
2
+ ��� 2� 2����

I2(x) =

∫ ∞

0

(
e−

u
tanh u sinh u − 1

2
+

1

2

)(
1 − e−

x
cosh2 u

)
du !�+6�#

=
1

2

∫ ∞

0

(
1 − e−

x
cosh2 u

)
du −

∫ ∞

0

(
1

2
− e−

u
tanh u sinh u

)
du +∫ ∞

0

e−
x

cosh2 u

(
1

2
− e−

u
tanh u sinh u

)
du !�+69#

��� ����� ������

 
%%��
���� 0 
� x → ∞ ����� ��� ���� ���� �� ��


 2��� u ��

��


 
�� ��� ������ ���� �� ��


 2��� u �� 

���+ ��� ������ ������

 �� 
 �����
��

����%������ �� x 
�� �
� �� �&

�
��� �������


� �� ��&� β2 ≈ 0.4575� 2���� ��

�������


� ���

 �� β1+

��� �������� ��� ���� ������

� 2� ��� ��� �
�� ��
� cosh u ≥ 1
2
eu 
�� ��� u ≥ A�

cosh u ≤ 1
2
eλ(A)u� 2���� λ(A) = 1 + e−2A

A
+ �������� ��� ���� ������

 �� F (x)� 2� ���

��� ��

�2��� �����

A
(
1 − e−

x
cosh2 A

)
+

∫ ∞

A

(1 − e−4xe−2λ(A)u

)du ≤ 2F (x) ≤
∫ ∞

A

(1 − e−4xe−2u

)du !�+6�#

2���� ��
�� ��� 
�� A+ $ ��
��� �� &
��
�
� v = xe−2λ(A)u�� ��� 
�2�� ����� 
��

v = xe−2u �� ��� �%%�� ������ ��&�� ��� ��

�2��� �����

A
(
1 − e−

x
cosh2 A

)
+

∫ xe−2λ(A)

0

1

2λ(A)v
(1 − e−4v)dv ≤ 2F (x) ≤

∫ x

0

1

2v
(1 − e−4v)dv

!�+6:#

-�2 ��%%��� x > 1� ���� ��� ��

�2��� �������� ��
��
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∫ x

0

1

v
(1 − e−4v)dv =

∫ 1

0

1

v
(1 − e−4v)dv + log x −

∫ x

1

e−4v dv

v
!�+6 #

$� x → ∞� ��� 

�� ���� ���&����� �� −Ei(−4) 2���� �
� �� ���%���� ��*

�����


�+ ��� ���� ���� �
� 

�� �� �&

�
��� �������


� 
�� �� 
� x → ∞� 2�

���

∫ x

0

1

v
(1 − e−4v)dv = log x + C

2���� C ≈ 1.9635+ $%%
���� ���� �������� �� ��� ������� 2� ���

1

2λ(A)
(log x + C) − Ae−

x
cosh2 A ≤ 2F (x) ≤ 1

2
log x +

C

2
!�+6;#

����� A �� 
�����
��� �� �
� �� ������ �� ���2 2��� x+ �� 2� �
(� A = 1
2
(1+ε) logx�

���� λ(A) → 1 
�� ��� ������ ���� ���� �� 0+ ��� 
���%�����


� 
� x → ∞,2� �
&�

F (X) → 1

4
log x + D !�+66#

2���� D = C
4
≈ 0.49088+

��������� 


 ��� 
���%����� ���
&����� 2� ��� ��� ���
&��� �� Qp�

Qp(x) →

⎧⎪⎨
⎪⎩

γ
√

2x x → 0+

1
4
log x + D x → ∞

���� 2�'&� ���� ��� �
�� ��
� β1 ≈ β2.

��" #������� ����


$ ������
� ���� %������
��� ��
���� 2���� ���� ��� �
,���� ��
2��2� �� ���

����
��� �
���

Sterling(T ) =
µ

E[MDD]
!�+65#
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�� �
���


� ��
����� ��2 ���� ������ �� �,%��� ��� �&��� ���� �� ��
2��2� ���(+

���� �� ����

� �� ��� 2���
� ���� ��
�%� �
��� 2���� ���� ��� ��
��
�� ��&�
���� 
�


 ��
���� �� ���(+

Shape(T ) =
µ

σ
!�+6"#

��� ��� �
�� µ > 0� ����� ���
���� �+;� 2� �
&�

Sterling(T ) =
(Sharpe(T ))2

Qp((Sharpe(T ))2T )
!�+64#

�� ��� 
���%����� �
�� 
� T → ∞� 2� �
&�

Sterling(T → ∞) =
(Sharpe)2

−0.5416 + 0.5 log(T ) + log(Sharpe)
!�+5�#

����� �����
�� 
 ������ ��

�������% ���2��� ��� ����
��� �
��� 
�� ��� ��
�%�

�
���+

��$ %
������
�

��� �
,���� ��
2��2� �� 
� ��%���
�� ���( ��
����+ ��� �� �� �� 
� �A����&�

�����
��� �� ��� ���(� ��� 
�

����

 %��%������ �
&� �� �� �������+ 7�'&� %�������� ���

������������ 
�� ��� �,%����� &

�� �� �
,���� ��
2��2�+ 7� ����� ��
� �� ���


������� �
��� ��� ��
2��2� ��
������ ��

�� �� ����� ��A����� 2
�� (log(T ),
√

T , T )

��%������ �� ��� ���� �� µ+ ���� �
� �� ���� 
� 
 2
� �� ������� ��� ��%������� < ��

��� ������ %�����&�� 1��� �� ���
��&�+



��

������� "

����������

�� 
�� 
�
����� ����
���� ��� �
�� ��

 �� �� ��� 
 ��%������� ��
� %������� 2�

 ��

��� ������ �,
�%
��+ �� ������ ��
��� ����� �
� ���� 
 ���2��� �������� �� &�����



��������� 2���� ������� ��� ���%�� �� �
�� ��%������� �� %������ 
 ��

 ���%��+

����� 

�������� �
(� 
 ��&�� B�
��D 
�
����� 

������� 
�� 
%%
� �� ��%�
���
� �� ��*

2������� &������� �� ��� ������

 �
�
���� ���� %�������� 
� ������
� �� ��%�������

2���� 
�� ���� �������� &�
 
 2������� &����� ������ �� ���� 
 ��

 
�����
��

��%�������+

�� �� ��
��&�� ��
� ��� ��
��� ��� ����� ���� %������
��� �� ��
� ���� ���� ��

%������ ��%������� 2��� 

��� �
������ ��2�&�� �� �
� ���� ���� ��
� ������
� �
,*

���1��� ��� �
���� �����'� 

2
�� 
�
� �� ������ %������
���+ $������ �,%

�
����

�� ��
� ���� ��


� 
�� 
 ��
����� ������� %�������� �� 
 ��������

 �%
��+ �� ����

��
%���� 2� %������ 
� 

������� 2���� 
�������&�
� ������1�� ��� ���� ��������

 ��

��� �� ��
� ��


� 
�
�� �� 
 ������ ���*��*�
�%
� %������
���+

��� �
����
�

7� 
����� ��
� ��� �,
�%
�� (x, y) 
�� �
����
� �����
��� ���� ���� ��(��2�

%���
��
��� ������������ D �� X × Y 2���� X �� ��� ��%�� �%
�� 
�� Y �� ��� ���%��

�%
��+ 7�'

 ��
� �� ��

��� 2��� ���
�� �

�������� �� �� �����

 2�'

 �
&� Y =

{−1, 1}. 0������� 

�������� %������ 
 &���� ������
���� �� �

������� �� ��� ����

sgn(F (x)) 2����



�9

F (x) =

T∑
t=1

αtft(x)

2���� ft : X → {−1, 1} 
�� �
�� �

������� ���� ���� �,�� ��%������� �

�� F

�� αt ∈ �+
��

∑T
t=1 αt = 1 
�� ��� 2������ �� ��� �

�������+ ��� �

�� �� 


 ���&�,

������
����� �� ��������� ���� ��� �
�� �

������� 2�

 �� �


�� con(F#+

��� �
����!∆# �� 
� �,
�%
� (x, y) ��� ��� �

������ sgn(F (x)) �� ������ 
�

yF (x)+ �
���� �� 
 ��
���� �� ��� ��������� �� ��� ��������+ $ 

��� %�����&�

�
���� ��%
��� 
 �������� ������� ��������+

/�&�� 
 ��� S = {(x1, y1), ..., (xn, yn)} �� �,
�%
�� ��
2� ���� D� ��� ��

 ��


�
����� �� �� ��������� 
� ��%�������� �� ��� �
�� 
 &���� ������
���� �� �

������ ��

��
� �� ������1�� ��� ���*��*�
�%
� ����� 2���� �� ������ 
� PD[sgn(F (x)) �= y]� �+�+

��� %���
��
��� ��
� F 2����
� �

������ 
 �
���� %���� ��
2� ���� ��� ������������

D+

��� �	�


��

$�
0���� �� ��� �� ��� ���� %�%�

� �������� 

��������+ �� �
� ���� ���2� �� 2��(

&��� 2�

 �� 
 ������ �� ��

 2��
� ����
�����?95� 9"� 96� 4� 6@+ �� �
(�� 
 �
�� 
�
�����



������� 
�� ��%�
���
� 
%%
��� �� �� ��*2������� &������� �� ��� ������

 ��
�����

�
�%
�� %�������� 
 
���
� ������
���� �� ��%������� ���� ��� �
�� 
�
����+ $� �
��

����
����� $�
0���� ��%�
��1�� ��� ����

������ �,
�%
�� ���� ��� %��&���� ����
����

������� ������� ��� 2�
( 
�
���� �� ����� �� ��� B��C��
�D �,
�%
��+ $
������� 9

��&�� ��� %�����*���� �� $�
0����+

��� �A����&����� �� $�
0���� �
� ���� 
��������� �� ��� �
�� ��
� �� ����� ��

%������ �

������� 2��� 

��� �
����� �� ��� ��
����� %�����+ ������� 9 ������ ���

�����

�1
���� ����� �� 
� &���� �

������ �� ����� �� ��� ��
����� �� %����� 2��� ��




�
����+

# ����
 � ��� S �� 	 
	���� 
� N ��	����
 ��

�� ������������� 	� �	��
� 	��

�
����� �
 D� �

��� ��	� ��� �	
� ���
���
�
 
�	�� F �	
 ��������
�
� d� 	�� ���



��

��	��
� 
 � $�
0����!S�T )?5@

• ��%��< S = (x1, y1), ..., (xN , yN)

• ��%��< T ��� ������ �� ����
�����

• �����

�1� wi = 1
N

��� i = 1, .., N

• ��� t = 1 �� T ��

0 ��
�� ��� 2�
( 
�
���� �� ��� 2������� �
�
��� (S, w) 
�� ���
�� ht: :
X → {−1, 1}

0 �

��

�� ��� 2������� ��
����� ����� εt �� ht<

εt =
N∑

i=1

wiI[ht(xi) �= yi]

0 �

��

�� ��� 2����� αt 
�<

αt =
1

2
log

1 − εt

εt

0 >%�
�� 2������
wnew

i = wi exp{−αtynht(xn)}/Zt

2���� Zt �� 
 ����

�1
���� �����
��

0 �� εt = 0 �� εt ≥ 1
2
���� ���
( 
�� ��� T = t − 1

• E��%�� FT (x) =
∑T

t=0 αtht(x)

δ > 0� ���� ���� ��
�	������ 	� ��	
� 1− δ 
 �� ��� �	��
� ��
��� 
� ��� ��	����� 
��

S�� ��� �������� ������
� F ∈ lin(F) 
	��
!�
 ��� �
��
���� �
��� �
� 	�� γ > 0

PD[sgn(F (x)) �= y] ≤ PS[yF (x) ≤ γ] + O

(√
γ−2d log(N/d) + log(1/δ)

N

)

$�
0���� �
� ���� ����� �� �� %
�����

�
� �A����&� �� �����
���� ��� �
����

�� B��C��
�D �,
�%
�� !����� 2��� ��


 �
����#� �&�� 
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· ������ Ft
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x Qp(x), µ > 0
x → 0 γ

√
2x

0.0005 0.019690
0.0010 0.027694
0.0020 0.038896
0.0050 0.060721
0.0100 0.084693
0.0200 0.117503
0.0300 0.141842
0.0400 0.161817
0.0500 0.179015
0.0600 0.194248
0.0700 0.207999
0.0800 0.220581
0.0900 0.232212
0.1000 0.243050
0.2000 0.325071
0.3000 0.382016
0.4000 0.426452
0.5000 0.463159
1.5000 0.668992
2.5000 0.775976
3.5000 0.849298
4.5000 0.905305
10.000 1.088998
20.000 1.253794
30.000 1.351794
40.000 1.421860
50.000 1.476457

150.0000 1.747485
250.0000 1.874323
x → ∞ 1

4 log x + 0.49088

x Qn(x), µ < 0
x → 0 γ

√
2x

0.0005 0.019965
0.0010 0.028394
0.0015 0.034874
0.0020 0.040369
0.0025 0.045256
0.0050 0.064633
0.0075 0.079746
0.0100 0.092708
0.0150 0.114814
0.0200 0.133772
0.0300 0.166229
0.0400 0.194489
0.0500 0.220056
0.0600 0.243374
0.0700 0.265472
0.0800 0.286406
0.0900 0.306393
0.0950 0.316066
0.1000 0.325585
0.1500 0.413136
0.2000 0.491599
0.2500 0.564333
0.3000 0.633007
0.3500 0.698849
0.4000 0.762455
0.5000 0.884593
1.0000 1.445520
2.0000 2.483960
5.0000 5.498820
x → ∞ x + 1

2
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$
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0���� ���� $
%�
0���� EE� ����� $�
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0���� EE� �����

9 9.3565888e− 14 3.0266667e− 02 2.7597247e − 03 2.9089333e− 02
� 1.2035998e− 13 4.4191011e− 02 1.8804671e − 02 4.2529333e− 02
: 1.6344770e− 14 4.4392500e− 02 2.0653736e − 02 4.3245333e− 02
 4.2481317e− 17 4.1800000e− 02 1.7477263e − 02 4.0553333e− 02
; 4.2698023e− 18 3.8835088e− 02 1.0045108e − 02 3.8081333e− 02
6 4.3135297e− 14 3.2375000e− 02 6.5214255e − 03 3.2469333e− 02
5 1.0915530e− 15 4.6779747e− 02 2.1924053e − 02 4.4280000e− 02
" 1.0915530e− 15 4.5810959e− 02 2.0753478e − 02 4.4768000e− 02
4 3.8035720e− 18 2.8975000e− 02 5.0236339e − 03 2.8206667e− 02
9� 4.7306306e− 15 4.5177778e− 02 1.7291558e − 02 4.3353333e− 02
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9 1.5322601e− 04 8.2038202e− 02 7.6928569e − 02 7.7200000e− 02
� 1.3788141e− 13 4.2930612e− 02 1.9828926e − 02 4.1520000e− 02
: 4.8592162e− 15 4.9562963e− 02 2.8406560e − 02 4.8784000e− 02
 5.3670424e− 04 9.5224490e− 02 9.5785479e − 02 8.6446000e− 02
; 5.0031784e− 05 7.3665116e− 02 7.2252861e − 02 6.8764000e− 02
6 4.8371905e− 10 6.3383721e− 02 4.4560837e − 02 5.9480000e− 02
5 1.0375764e− 04 6.6155056e− 02 4.4763318e − 02 6.2090000e− 02
" 1.0375764e− 04 7.4686420e− 02 5.9636413e − 02 6.7576000e− 02
4 2.2833023e− 11 5.8356962e− 02 3.7523566e − 02 5.4996000e− 02
9� 1.2634642e− 03 9.4135556e− 02 1.0156811e − 01 8.3704000e− 02
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9 0.517253 0.3126293 0.62887978 0.263594
� 0.5031718 0.3200826 0.61548533 0.285921
: 0.5391776 0.3443026 0.6450533 0.314052
 0.438985 0.2986720 0.552395 0.272044
; 0.7194488 0.455278 0.8077336 0.4283666
6 0.5417086 0.33590 0.645625 0.299938
5 0.7265202 0.2355866 0.8178936 0.452702
" 0.4332155 0.2620933 0.55019133 0.212585
4 0.555306 0.337778 0.66236691 0.2949906
9� 0.65321 0.25642 0.76012 0.20311
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